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g_evMon6 RMS (ppm)

corr_us_av
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g_evMon7 RMS (ppm)
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g_evMon10 RMS (ppm)

corr_us_av

____M

0 ™

™

(wdd) siny

_________
—

v'veoy
£veoy
2'veoy
Tveor
0'veoy
v'eeoy
eeeoy
[A204
T'eeoy
0'eeoy
S'ceoy
v'eeor
eeceoy
c¢'eey
Tzeoy
0'ceor
v'1E0Y
€'Te0Y
2'1eoy
T'TE0V
(U204
7'0e0y
€00y
200y
T'oeor
0’0oy
2’6207
T'62017
0’6207
6'8C07
8'8¢0v
1'820Y

p 98201

S'820Y
¥'820v
£'8c0y
2’820y
T'820v
0'820v
0’2oy
'920v
€'9¢0v
2’920
T'9cov
0'920v
v'seoy
et 4
¢'seoy
T'5eor
0'seor
€veoy
¢'veoy
T'veoy
0'veoy



1D pull distribution

0.005163 + 0.06361

Mean

0.4675 + 0.04498

Std Dev

Underflow

Overflow

1.609/3

X2 / ndf

248 £45

Constant

—0.04081+ 0.06472

Mean

0.4533 + 0.0581

Sigma

af
oF
of
_8

11.8/53 _

-0.3128

X2 / ndf
p0O

5.34

+

g_evMonl1l (ppb)

corr_us_av

v veoy
£ ve0y
2z veoy
T veoy
0'vE0Y
v'eS0p
£ e20p
[
-4regor
0'e£0v
»--d5zeoy
---:--vzeor
280y
2'280p
-qrzeor
0280y
v 1E0Y
£ TS0V
10V
“TE0V
0'TE0Y
020y
020y
2'020v
-4rogor
0'020v
2'620v
-4r'620r
0'620v
6'820
3'820
- 1°820v
-..+--d9'gz0v
5'820v
820V
820
2'820v
-4r'8eor
0'820v
0220V
v'920v
£'920v
2'9z0v
-+r9zor
0'9z0v
v'GZ0v
- £'GZ0v
-..:--dz'520p
-4U'seor
0'520v
£ vZ0p
--=- -z 'veor

P R A2
—_._:_._.::_:._._ :._—_._.__ 0’2oy

-50

n 0 om Y
— o ﬂ



g_evMonl1l RMS (ppm)

corr_us_av

v'veoy
£veoy
2'veoy
Tveor
0'veoy
v'eeoy
eeeoy
[A204
T'eeoy
0'eeoy
S'ceoy
v'eeor
eeceoy
c¢'eey
Tzeoy
0'ceor
v'1E0Y
€'Te0Y
2'1eoy
T'TE0V
(U204
p 7001
€00y
200y
T'oeor
0’0oy
2’6207
T'62017
0’6207
6'8C07
8'8¢0v
1'820Y
9'820v
S'820Y
¥'820v
£'8c0y
2’820y
T'820v
0'820v
0’2oy
'920v
€'9¢0v
2’920
T'9cov
0'920v
v'seoy
et 4
¢'seoy
T'5eor
0'seor
€veoy
¢'veoy
T'veoy
0'veoy

_____
o o <
<

(wdd) siny

0
™

(e0]

0
N

N

o
i

—

0
o



15000

10000

5000

5000

10000

corr_us_dd_evMonO (ppb)

X2 / ndf

pO

28.02 /53
—14.4 + 654.6

Illlil—,_—l—l.i—:l—l—clllllllllllll

1D pull distribution
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corr_us_dd_evMonl (ppb) 1D pull distribution
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1D pull distribution
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corr_us_dd_evMon5 RMS
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1D pull distribution
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1D pull distribution
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corr_usl_evMonO (ppb) 1D pull distribution
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